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Lecture - 61
TCP Connection Closure
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After all these HTTP packets are transferred from server to the laptop, connection

closure should happen.
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As soon as all the HTTP packets are received at the client site, that is the laptop, it starts
TCP transaction to close the connection. Here we can see that the device closes the TCP
connection to 1.6.2.10 on port 80 and the device sets the connection state to
FIN_WAIT _1, that is it is waiting for one acknowledgment before it actually closes the
connection. And it sends a TCP FIN+ACK segment (FIN stands for final and ACK for

acknowledgment).
Now, we can see that the TCP FIN+ACK has reached the server of the hotel.
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If we look into the packet we can see that the device receives a TCP FIN+ACK segment
on this connection and the received segment information are as follows: The sequence
number is 99, acknowledgement number is 293 and data length is 20. All these are as
expected and server gets to know that the device wants to disconnect the TCP
connection. So, the device sets the connection state to CLOSE_WAIT and it sets the

connection state to last acknowledgment.



(Refer Slide Time: 01:33)

IiSRd0ri@dry oz E=E ?
= - med Hi

o B
i
/ Vo T LeOnee ADver T
/ POU nfcemstion st Devie Senves ] e wF ey Pos
vt BbandFouDetas utbound 00 Dt ve ww ez Pos
I === we  puenn msset oS
e e ve  raaend baare BT
Desteaton 1629 00 mspre fsos [os
= = 00 Papw WP
o wsps msm Wos
= ow g cRu BT
| o6 mem pean Wos
I\ [Layer & TOP Sc port: 1031, Dt ot 80 | fayer 4: 709 Src Por: 89, Dst Port: 1031 s cRw s Je
e W e 06 packeunt Pasra o
B 18210 owt 3: 1612 s swumen B
[Lover 2: Evvemes Il peader farer 2 T e 01 pareaet c0 o
oo 02 > st sz | - foon e e » ovpsmen oz e TR
|Laper 1: Port GigatatEthemet] Layer 1: Portls): Ggabefthemats 8 e PanPr .Dﬁ
va  wEy ew B

1 The i sens  TOP FloACK segreet.
2

53 the A amiber 10 018 Pakpred Paar [ons

I L P R O [Gomi) [ mmn e D B i ok e G4 D
FBeamje:

And then device again sends a TCP final acknowledgment to the laptop. Device here is

server; server sends a TCP final acknowledgment to the laptop.
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The final acknowledgment from server has reached laptop now, and it received, the
received segment information are as follows: sequence number is 293, acknowledgment
number is 100 and the data length 20 and now the device, that is, the laptop sets the

connection state to closing.



